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7|2t AL of| =t of| 52X} CFE
1 10 10(X7|0=Z 7HR) 10-10=0 0
2 22 0.3*10+0.7*10=10 22-10=12 12
3 29 0.3*22+0.7*10=13.2 29-13.2=15.8 27.8
4 39 0.3*29+0.7*132=17.9 | 39-17.9=21.1 48.9
02) ARR) 23 Y, =0.5Y,,+0.4Y_,+¢5, Y, =20,Y,, =10, Y, ~Y .o 3
Y ,, =0.5*20+0.4*10=14
Y ., =0.5*14+0.4*20=15
Y ., =0.5*15+04*14=13.1
Y ., =0.5*13.1+0.4*15=12.55
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1 200 | 225 | -25 -25 -25 25 25 25/200=12.5% 625
2 240 | 220 20 -2.5 -5 20 225 20/240=8.3% 400




3 300 | 285 | 15 | 333 10 15 20 5% 225
4 270 | 290 | -20 | -25 -10 20 20 8.7% 400
5 230 | 250 | -20 -6 -30 20 20 8.7% 400
6 2060 | 240 | 20 | -1.66 -10 20 20 77% 400
7 210 | 250 | 40 | -71 -50 40 22.8 19.0% 1600
8 275 | 240 | 35 | -1.87 -15 35 244 12.7% 1225
L4 195 81.3% 5275
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A2 Cieat 22 AR 5 =
@ workfile windowOf|A{ Proc-change workfile rangeE MEiSH = 1970Q1
2005Q45 9=
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3 Quick-Estimate equationS MEHSIY T3S MYStD F=HI|HL2
1970Q1 2004Q42 ot F=74.
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